
Practice
Lesson 1

Multiplication Puzzles
Complete each puzzle.

     

     

     

 Stan has an unusual weekly allowance plan. He 
receives 10¢ every Monday, 20¢ every Tuesday, 
30¢ every Wednesday, and so on. That is, he always 
gets 10¢ on Mondays, and for the other days of the 
week, the next day’s allowance is always 10¢ more 
than the day before. 

If he begins counting on a Monday, how much total 
money will Stan receive after 10 days? Explain your answer.

$3.40; Possible explanation: I added 10 ! 20 ! 30 ! 40 ! 50 !

60 ! 70 ! 10 ! 20 ! 30 " 340¢ or $3.40.
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Practice
Lesson 2

Multiples of 10 and 100
 2 ! 3 " 6   6 ! 8 " 48   4 ! 8 " 32

 2 ! 30 " 60
  

6 ! 80 " 480
  

4 ! 80 " 320

 20 ! 3 " 60
  

60 ! 8 " 480
  

40 ! 8 " 320

 20 ! 30 " 600
  

60 ! 80 " 4,800
  

40 ! 80 " 3,200

 3 ! 4 " 12   8 ! 9 " 72   6 ! 9 " 54

 30 ! 4 " 120
  

8 ! 90 " 720
  

60 ! 90 " 5,400

 3 ! 40 " 120
  

80 ! 90 " 7,200
  

60 ! 9 " 540

 30 ! 40 " 1,200
  

80 ! 9 " 720
  

6 ! 90 " 540

 4 ! 6 " 24   6 ! 7 " 42   9 ! 7 " 63

 4 ! 60 " 240
  

6 ! 70 " 420
  

90 ! 70 " 6,300

 40 ! 60 " 2,400
  

60 ! 7 " 420
  

9 ! 70 " 630

 40 ! 6 " 240
  

60 ! 70 " 4,200
  

90 ! 7 " 630

 What would be the 9th number 
in this sequence?

5, 10, 15, . . .

A. 35 C. 50

C. ! 45 D. 90

 Ariel found that she walks 
3 blocks in 8 minutes. How long 
will it take her to walk 9 blocks?

A. 9 minutes C. ! 24 minutes

B. 18 minutes D. 27 minutes
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Practice
Lesson 3

Using Arrays to Model Multiplication
Complete the chart to find the number of squares 
in the array.

 13 ! 4  6 ! 14 

 

 The product of two numbers is the same as their 
sum. The numbers can be the same or different. 
What are the numbers? Explain your answer.

0 and 0 or 2 and 2; Possible explanation: I guessed numbers

and checked to see if their product equaled their sum.

0 ! 0 " 0 and 0 # 0 " 0; 2 ! 2 " 4 and 2 # 2 " 4
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Practice
Lesson 4

Splitting Larger Arrays
Fill in the chart and find the number of squares in 
the array.

  18 ! 11 " 198     12 ! 15 " 180

 

 10

11

6

50

60

40

48

8

90

108

110 88 198

5

18  10

2

10 100

20

50

10

15

150

30

12012 60 180

5

 

 Eighth graders at Central School were 
surveyed to see how many took part in 
the activities shown at the right. Each 
student surveyed was involved in exactly 
two activities. These were the results.

How many students took part in the survey? 
Explain your answer.

39 students; Possible explanation: I counted the tally marks 

and divided by 2: 78 ! 2 " 39.
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Practice
Lesson 5

Choosing Simpler Problems
How many tiles  do you need to cover each design?
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Practice
Lesson 6

From Charts to Vertical Records
Find the products.

  4 ! 8 " 32   5 ! 6 " 30  

 4 ! 80 " 320
  

5 ! 60 " 300
 

 3 ! 8 " 24
  

7 ! 6 " 42
 

 30 ! 8 " 240
  

70 ! 6 " 420
 

 30 ! 80 " 2,400
  

70 ! 60 " 4,200
 

 34 ! 80 " 2,720
  

75 ! 60 " 4,500
 

  19 ! 30 " 570

 Thompson Elementary School has 25 desks in each 
classroom. The school has 1,625 students. Write a number 
sentence using n, so n equals the number of classrooms 
needed to seat every student. Explain your answer.

1,625 ! 25 " n; Possible explanation: To fi nd the number of 

classrooms needed, divide the number of students by the

number of desks in each room.
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Practice
Lesson 7

Recording Your Process of Multiplication
Fill in the missing numbers.

  (3 ! 4) " (7 ! 4) # 10
 
! 4 #

 
40

 (12 ! 4) " (12 ! 16) # 12 ! 20
 
# 240

 

 

(35 ! 9) " (35 ! 11) # 35 ! 20
 
# 700

  21 ! 30 # (20 ! 30) " ( 1  ! 30) # 

600
 
" 30

 
# 630

 

How many 2 digit numbers can 
you make using any of these cards

for the tens digit and any of 
these cards for the ones digit?

1 20 3 4

A. 24 numbers

B. 25 numbers

C. ! 30 numbers

D. 36 numbers©
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Practice
Lesson 8

Checking for Reasonable Answers
Complete the multiplication sentences. Fill in the 
grids if needed.
 

30 ! 30 " 900
  

40 ! 40 " 1,600
  

49 ! 49 " 2,401

 29 ! 31 " 899
  

39 ! 41 " 1,599
  

48 ! 50 " 2,400

  

 
Which two statements 
are correct?

1. 72 # 8 " 7 2. 72 # 8 $ 7

3. 56 # 7 % 7 4. 56 $ 7 ! 7

A. 1 and 3 C. 1 and 2

B. ! 2 and 4 D. 3 and 4

Which is not a way to have $1.19
in change?

A. 4 quarters 3 nickels 4 pennies

B. ! 4 quarters 2 dimes 4 pennies

C. 4 quarters 1 dime 9 pennies

D. 3 quarters 4 dimes 4 pennies

Partial products and their order may vary.
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Practice
Lesson 9

Multiplication Situations
 Ryan is trying to remember the 3-digit combination 
to his locker. He remembers that 6 is the first digit, 
but he can’t remember the second digit. He remembers 
that the third digit is an odd number. What 
is the greatest number of combinations Ryan might 
have to try before being able to open his locker? 50  combinations

10 possible 2nd digits ! 5 possible 3rd digits " 50
 

 

72

84

6

0 0

921

5

6

8 02

8

61 0

40 20

40 7

8 20

8 7

84

72

6

0 0

921

5

6

8 02

8

61 0

20 40

7 40

20 8

7 8

 Use estimation to match the problems with the answers.

 36 ! 6 1,836

 306 ! 6 156

 36 ! 36 10,656

 13 ! 12 216

 96 ! 111 1,296
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